4 "M'0'v1'OI'X [IAWN

2 N an
17.08.2001 :awan "Ixn

9N I NI AN a'7ron y:[0,1] > R" 'an

NP nron foy:[0,1] > R* T noxna M fi:R" >R ox (X

0,1] yopa nma foy:[0,]] > R ik nirg7n nnmaanwa f:R" >R ox (2
NN nron yo f:[0,1] > R" v nowx f:[0,1] —[0,1] ox (

(t€[0,1]) mixan Ni7'onn IR DX IRXN
7(t)=(2+4t,1+5t2,9+3t) (X
y(t)=(sin(xt),cos(xt), 2z +xt) (2
y(t)=(4sin(t),cos(2t),sin(2t)-2t+3) (a

2 (t €[0,1]) nixan ni7'onn 7y 0'RAN D"IEN D'70A01'RN IR 1AWN
y(t)=(t.t22t), f(xy,z)=zy-xy (X

7(t)= (sin(27zt),cos(27zt)), f(x,y)=4x2y2(x2+y?) (a
y(t)=(t1212), f(x,y,z)=xe""7+sin(2¢-y?) (a

- (t €[0,1]) nixan ni7'onn 2y 0'8AN O™MIVRIN D'77201'KN DX 1AWN
y(t)=(t,t2,3t), f (x,y,2) =(2x2—y,3xsin(xz - y),2ysin(y-3x?)) (x
y(t)=(sin(2zt),cos(2xt)), f (x,y)=(x+2x2+y%2xy+Yy) (2
y(t)=(t.,1212+t), f (X, y,z)=(xsin(z—x),x2cos(x?),tan(x+y) (a

f(x,y)=(@U,v) , f:R* > R* nami R"-a (y(0)=y(1) ni7d) miao ng7n n7’on y AN
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77201RN TR UG =V DAl UG =V DAL [IVYR (I TA KD NNYY DX NDNIN K7y DR (R
NTP Uy -V, 7w 7Wn 719 n7'onn Ina KI7dN nown KiIn n7onn w f v miopin
.N7'onn 7w n7nnnn

DTN [IVWA (I TA NRXY DX NONIN X7y ox L, R? v no'on NN apnya A 'nn (2
Jrn A 7¥ NVI'NNVTR DX 710X [IYYUD (1D T2 XY NIX NONIN X7 A(y)

T~ 71 y'nn ,no¥ g:[0,1] —>[0,1] -1 pywn [ 1A nnxy NX TONIN X7 7 oXk (2
NNOIN y-¥ DINNN 7Y Uy —V, 79 701K DY yog 7w f 7w miopin avrsn
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